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1. Find the correctly spelt

word
a) profesion
b) proffession
c) profession
d) profetion

Answer: ¢) profession
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2. Find the correctly spelt

word
a) Versatile
b) Verstile
c) Vorstyle
d) Varstile

Answer: a) Versatile
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3. Find the correctly spelt

word
a) vivasious
b) vivacious
C) vivacouse
d) vivascious

Answer: b) vivacious
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4. Find the correctly spelt

word
a) padestrian
b) pedestrean
c) pedistrian
d) pedestrian

Answer: d) pedestrian
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5. Find the correctly spelt

word
a) compulsorry
b) compelsory
c) compulsory
d) compulisory

Answer: c) compulsory
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6. Find the correctly spelt

word
a) Sattelite
b) Satellite
c) Satelite
d) Sattellite

Answer: b) Satellite
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7. Choose the correct
speling of the given

word.
a) Exaggerate
b) Exadgerate
c) Exeggerate
d) Exagerate

Answer: a)
Exaggerate
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8. Find the correctly spelt

word
a) heirarchy
b) heirachy
c) hairarchy
d) hierarchy

Answer: d) hierarchy
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9. Find the correctly spelt

word
a) misscelleneous
b) misscellaneous
c) miscellaneous
d) misscelanious

Answer: c)
miscellaneous
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10. Find the correctly spelt

word.
a) Saperable
b) Separable
c) Saparable
d) Seperable

Answer: b) Separable
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11. Can | have (1)/a loaf of
bread (2)/ and a jam jar? (3)/

No error (4)

(3) Here, and a jar of
jam or and some jam
is the right usage.
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12. Now that | am back at work, (1)/ |
have beginning (2)/ to feel much

better. (3)/ No error (4)

(2) Here, Present Perfect
..e., | have begun (V3) is
the right usage.
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13. The reason for (1)/ his failure is
because (2)/ he did not work hard.

(3)/ No error (4)

(2) Here, Connective-that should
be used. It is improper to use
reason and because together.
Hence, his failure is that is the right
usaae.
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14. A large (1)/ consignment of
books (2)/ are expected. (3)/No

error (4)
(SSC CGL Tier-l (CBE) Exam. 02.09.
(lInd sitting)

(3) A Large consignment (Singular
Collective Noun) agrees with
Singular Verb (is).

Hence, is expected is the right

B e YaVYa lal
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15. Do you know (1)/ whom the
(2)/ next speaker is? (3)/ No

error (4)
(SSC CGL Tier-| (CBE) Exam. 02.09

(lind sitting)

(2) Who is used to show which
person or people you mean/used
in question. Whom is used as the
Object of a Verb or Preposition.
Hence, who the is the right
usaaqe.
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16. When will you head
your assignment?

a) into
b) down
c) back
d) in

Answer: (d) Head in the phrasal verb here
means to begin
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17. If | had helped him, he

a) would not have drowned
b) will not have drowned

c) would not be drowned
d) will not be drowned

Answer. a) would not have
drowned
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18. the rain forests are

very important if we do not
want the flora and fauna found
there to become extinct.

a) Reserving | - |
b) Preserving M
c) Destroying

d) MaintaiRérg) Preserving
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19. | assume with me.

a) that everyone agrees
b) every one agreeing

c) that everyone to agree
d) everyone to agree

Answer: a) that everyone agrees
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20. If you had followed the

rules, you
disqualified.

a) would not be

b) will not be

c) would not have been

d) will not have been
Answer: c) would not have been







